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SECTION II
[TO BE ATTACHED TO THE MAIN ANSWER-BOOK]
B.A/B.COM DEGREE CBCS PRIVATE EXAMINATION, MARCH 2025
DO NOT WRITE YOUR REGISTER NUMBER OR NAME ANYWHERE IN THE
SECTION II OF THE QUESTION PAPER
EN2CCT03-MCQ - ENGLISH-ISSUES THAT MATTER

Answer all questions.
All questions carry equal marks

Put a tick mark [v'] against the correct answer

. During which period did the World Powers attain a cautious balance of power?

(a) Cold War Years (b) 21 st Century

(c) Primitive period  (d) None of these

. Who according to Oe concluded with the dropping of atomic bomb on Hiroshima?.

(a) American intellectuals  (b) Indian scientists

(c) Russian military (d) None of these

. “They did not breed nor love ...” Who is this ‘they’ referred to here?

(a) Sea birds (b) Prisoners

(¢) Seaand wind  (d) None of these

. How did the second class carriage appear?

(a) Fast and roaring  (b) Fast and blowing

(c) Fast and smoky (d) Stuffy and smoky

. What do writers gripe about?

(a) Historians (b) Priests

(c) Literary figures  (d) Politicians

. How according to Morrison does social oppression function like, on the population?

(a) Conscience  (b) Power

(¢) Freedom (d) Coma

. Writers who construct meaning in the focus of chaos must be

(a) Nurtured (b) Killed
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(c) Putinjail  (d) Send in exile

What did the Regime command to burn?
(a) Unlawful (b) Bible

(¢) Text- books  (d) None of these

Where did Grandpa find the stale bread?
(a) On the threshing floor  (b) In the pen, in front of the oxen

(c) In the waste basket (d) At the backyard of Patil’s house

What was the cause of Grandpa’s death?

(a) He was poisoned by Bapu Patil (b) He died of starvation
(c) He died due to high dosage of (d) He died of vomiting and dysentery induced by the poisoned
medicine bread

Why did Zitkala-sa’s mother live in such poor condition?

(a) Because she was indifferent to such (b) Because she was too lazy to maintain the house

inconveniences
(c) Because the family did not have the means for a (d) Because she could not get a faithful domestic
better living assistant to help her

Why did Arenla leave the work shed early?
(a) Because she had to cook lunch (b) Because she had finished her work fast

(c) Because she had a headache and a sore throat ~ (d) Because she was lazy to work longer

Why are fossil records of life important?

(a) It can tell us about the dynamics of living systems at time scales (b) It is a record of all the species of the
beyond our current experience and imagination past and of how they died
(c) Fossil fuels are the energy sources of the present day (d) All of the above

What does the line “The bleeding bark will heal” indicate?

(a) It is a medicinal tree (b) It is a tree with liquid oozing out

(c) It shows the resistance of plants  (d) It shows the regenerative power of nature

Which is the only question from Hagar to which her husband replied?

(a) Are you leaving me here (b) Why do you abandon your child and me in this terrible, lonely
forever? wilderness?
(c) What wrong have I done? (d) Did your God order you to do this?

What was Hagar’s reaction when she heard her name called out in the wilderness?

(a) She thought it was the voice of her own desperate (b) She dashed here and there seeking the
bewilderment voice
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(c) She thought it was the voice of God (d) All of the above

Hebdige’s contention in the context of Caribbean music and cultural identity throw light on

(a) the conditions of the homeless (b) the changing realities and lives of refugees in alien lands

(c) the pathetic life of the Tibetan refugees  (d) the attitude of the State towards the refugees who seek asylum

When was the refugee problem acknowledged as having international dimensions?

(a) In the aftermath of World War I (b) In the aftermath of World War I1

(¢) In the aftermath of the Syrian war  (d) In the aftermath of the Tibetan crisis

The poem Refugee Blues is set in

(a) a refugee camp (b) some foreign country where in the speaker took refuge

(c) Leopoldville in the Congo  (d) the convict-built jail at Trial Bay

Why did Isam consider himself as the leader of all children?

(a) Isam was educated (b) Isam was a little bigger than them

(c) He was the pet of the grandfather ~ (d) He was eighteen years old
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